

$$y' = \frac{v u' - u v'}{v^2}$$



Rules of Differentiation- Product & Quotient Rule practice  
By: Ing Ziad Najjar



Act 3.04

Name: Alejandra Ujos

ID: AEAS+0159

Date: 20/09/17

Find the derivative of the following functions:

BOX YOUR FINAL ANSWER

1)  $f(x) = 4x^3(2x+5)^4$   
 $u = 4x^3$   $v = (2x+5)^4$

$$f'(x) = (2x+5)^4(12x^2) + (4x^3)[8(2x+5)^3]$$

$$f'(x) = 12x^2(2x+5)^4 + 32x^3(2x+5)^3$$

$$f'(x) = 4x^2(2x+5)^3 [3(2x+5) + 8x]$$

2)  $f(x) = 2x\sqrt{(4x-2)^5}$   
 $u = 2x$   $v = (4x-2)^{5/2}$

$$f'(x) = (4x-2)^{5/2}(2) + (2x)[10(4x-2)^{3/2}]$$

$$f'(x) = 2(4x-2)^{5/2} + 20x(4x-2)^{3/2}$$

$$f'(x) = 2(4x-2)^{3/2} [(4x-2) + 10x]$$

3)  $f(x) = (4x+1)^3(3-x^2)^4$   
 $u = (4x+1)^3$   $v = (3-x^2)^4$

$$f'(x) = (3-x^2)^4(12(4x+1)^2) + (4x+1)^3(-8x(3-x^2)^3)$$

$$f'(x) = 12(3-x^2)^4(4x+1)^2 - 8x(3-x^2)^3(4x+1)^3$$

$$f'(x) = 4(3-x^2)^3(4x+1)^2 [3(3-x^2) - 2x(4x+1)]$$

4)  $f(x) = x^3(x^2+1)^4$   
 $u = x^3$   $v = (x^2+1)^4$

$$f'(x) = (x^2+1)^4(3x^2) + (x^3)(8x(x^2+1)^3)$$

$$f'(x) = 3x^2(x^2+1)^4 + 8x^4(x^2+1)^3$$

$$f'(x) = x^2(x^2+1)^3 [3(x^2+1) + 8x^2]$$

5)  $f(x) = \left(\frac{x}{2}+1\right)^8(x^2-3)^4$   
 $u = \left(\frac{x}{2}+1\right)^8$   $v = (x^2-3)^4$

$$f'(x) = (x^2-3)^4 \left(4\left(\frac{x}{2}+1\right)^7\right) + \left(\frac{x}{2}+1\right)^8 (2x(x^2-3)^3)$$

$$f'(x) = 4(x^2-3)^4 \left(\frac{x}{2}+1\right)^7 + 8x(x^2-3)^3 \left(\frac{x}{2}+1\right)^8$$

$$f'(x) = 4(x^2-3)^3 \left(\frac{x}{2}+1\right)^7 [(x^2-3) + 2x\left(\frac{x}{2}+1\right)]$$

6)  $f(x) = \frac{3x^2}{2}(2x-3)^4$   
 $u = 3x^2$   $v = (2x-3)^4$

$$f'(x) = (2x-3)^4(3x) + \left(\frac{3}{2}x^2\right)(8(2x-3)^3)$$

$$f'(x) = 3x(2x-3)^4 + 12x^2(2x-3)^3$$

$$f'(x) = 3x(2x-3)^3 [(2x-3) + 4x]$$

7)  $f(x) = \frac{(2x-1)^3}{2x^3}$   
 $u = (2x-1)^3$   $v = 2x^3$

$$f'(x) = (2x-1)^3(6(2x-1)^2) + (2x-1)^3(-6x^{-4})$$

$$f'(x) = 12x^{-3}(2x-1)^2 - 6x^{-4}(2x-1)^3$$

$$f'(x) = 6x^{-4}(2x-1)^2 [2x - (2x-1)]$$

8)  $f(x) = \frac{2x^2}{(x^2+1)^5}$   
 $u = 2x^2$   $v = (x^2+1)^5$

$$f'(x) = (x^2+1)^{-5}(4x) + (2x^2)(-10x(x^2+1)^{-6})$$

$$f'(x) = 4x(x^2+1)^{-5} - 20x^3(x^2+1)^{-6}$$

$$f'(x) = 4x(x^2+1)^{-6} [(x^2+1) - 5x^2]$$

$$9) f(x) = \frac{8x}{x+1} \quad u = (x+1)^{-1}$$

$$f'(x) = (x+1)^{-1}(8) + (8x)(-(x+1)^{-2})$$

$$f'(x) = 8(x+1)^{-1} - 8x(x+1)^{-2}$$

$$f'(x) = 8(x+1)^{-2} [(x+1) - x]$$

$$10) f(x) = \frac{(2x-3)^4}{1-2x} \quad u' = 8(2x-3)^3 \quad v' = 2(1-2x)^{-2}$$

$$f'(x) = (1-2x)^{-1}(8(2x-3)^3) + (2x-3)^4(2(1-2x)^{-2})$$

$$f'(x) = 8(1-2x)^{-1}(2x-3)^3 + 2(1-2x)^{-2}(2x-3)^4$$

$$f'(x) = 2(1-2x)^{-2}(2x-3)^3 [4(1-2x) + (2x-3)]$$

$$11) f(x) = -\frac{x^2}{(2x+1)^5} \quad u = (2x+1)^{-5}$$

$$f'(x) = (2x+1)^{-5}(2x) + (x^2)(-10(2x+1)^{-6})$$

$$f'(x) = 2x(2x+1)^{-5} - 10x^2(2x+1)^{-6}$$

$$f'(x) = 2x(2x+1)^{-6} [(2x+1) - 5x]$$

$$12) f(x) = \frac{(x^3+1)^8}{(1-3x)^4} \quad u' = 24x^2(x^3+1)^7 \quad v' = 12(1-3x)^{-5}$$

$$f'(x) = (1-3x)^{-4}(24x^2(x^3+1)^7) + (x^3+1)^8(12(1-3x)^{-5})$$

$$f'(x) = 24x^2(1-3x)^{-4}(x^3+1)^7 + 12(1-3x)^{-5}(x^3+1)^8$$

$$f'(x) = 12(1-3x)^{-5}(x^3+1)^7 [2x(1-3x) + (x^3+1)]$$

13) Find the equation of tangent line to the given function at the indicated point:

$$f(x) = x(2x-3)^4 \quad \text{at} \quad x=1$$

$$u = x \quad v = (2x-3)^4$$

$$f'(x) = (2x-3)^4(1) + (x)(8(2x-3)^3)$$

$$f'(x) = (2x-3)^4 + 8x(2x-3)^3$$

$$f'(x) = (2x-3)^3 [(2x-3) + 8x]$$

$$m = (2(1)-3)^3 [(2(1)-3) + 8(1)]$$

$$m = (-1)^3 [3]$$

$$m = -3$$

$$y = (1)(2(1)-3)^4$$

$$y = 1(-1)^4$$

$$y = 1$$

$$1 = -3(1) + b$$

$$1 = -3 + b$$

$$b = 8$$

$$y = -3x + 8$$

14) Find the equation of tangent line to the given function at the indicated point:

$$f(x) = \frac{(2x-1)^5}{x} \quad \text{at} \quad x=1$$

$$u = (2x-1)^5 \quad v = x^{-1}$$

$$f'(x) = (x^{-1})(10(2x-1)^4) + (2x-1)^5(-x^{-2})$$

$$f'(x) = 10x^{-1}(2x-1)^4 - x^{-2}(2x-1)^5$$

$$f'(x) = x^{-2}(2x-1)^4 [10x - (2x-1)]$$

$$m = (1)^{-2}(2(1)-1)^4 [10(1) - (2(1)-1)]$$

$$m = (1)(1) [9]$$

$$m = 9$$

$$y = (2(1)-1)^5(1)^{-1}$$

$$y = (1)(1)$$

$$y = 1$$

$$1 = 9(1) + b$$

$$1 = 9 + b$$

$$b = -8$$

$$y = 9x - 8$$